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L

Let f:[0.10]—[1.20] be a function defined as f(x)=4 10, 6<x<7 .

then f 1s

3
f:[0.10]>[1,20] sy, f(x)=1 10,

L

Options :

bijective function

B5(536s HAADHSD

1. &

one-one but not on to function

83850 5°Q VoI DOKS0 o0

b
®

onto but not one-one function

> Do 520 @335 A0 S°D
3.

neither one -one nor onto function

©JEN 5760, Do DK 570

4 &

60—5x

31—3x

31-3x, 7=<x<10

0<x<6
6=x<7 A6 VY f

1Ex=14
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The domain of the function f(x)=,|log, [ s 1 :

k!
} 1s
Y,

2

- -

Sx—x )
oA f(x) =, |log,, ‘-T‘ J B0E), BB

Options :

0. 1]

] ®

[1, 4]

=

v

[4.5]

1%

. (=00, ®)

Question Number : 3 Question Id : 814578163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Let the greatest common divisor of 7. 77 be 1.

| 1 1 m
If — + - = ——— up to 20 terms = — ., then Sm + 2n =

4 13 13519 n

m, n e 663 3"&‘1}“&‘)5 arasan 1 98 ooro.

LI N R 20 e 368 = 2L w0, ey S + 21 =

L7 13 1319 n

Options :

3235

1 B

[
&

Question Number : 4 Question Id : 814578164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

If A. B are two non singular matrices of order 3. |B| = k. a positive integer. then

match the items of list - I with the items of list - 11

A.B e S0r¢d S606S Jordes ardsen |B =k, w8 8 Qrgrosdn eond, ey
DT -1 §°D 0BV, DT-II 5°D woBsneOd BSDGEBAE

List -1 List -11
A) ¢ A"| I) BA¥+A*B
B) |Adji(A™)| m BAdi(B)
B
C) BAB™ =1,=>BAF B = ) —
B [A]
D) Adj(Adj(A™))= V) ﬁm_l)
V) 12
A

The correct match 1s

OGS 2265
Options :
A B C
111 V I1 IV

»)

A B C D
II IV I II

b3
®

A B 2 D

Question Number : 5 Question Id : 814578165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

All the real values of p. ¢ so that the system of equations

2x+py+6z=38

x+2y+qz=>5

xXt+tyt+3z=4
may have no solution are
e SCes ;55.;5@
2x+py+6z=38
XTIy Trgz=3
Xx+y+3iz=4

50 PEeS S0t GoliGmd8 P, ¢ © A8, ) TFd Jeuden

Options :
p=2Z, GFa
1. #
q
p=2, q=1—“
2. % B
PED, §=3
5.9
p:3_‘ q—E
4. = 4

Question Number : 6 Question Id : 814578166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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If p and ¢ are two distinct real values of A for which the system of equations
(A-1)x+(34+1)y +24z=0

(A-1)x+(44-2)y+(A+3)2=0

2x+(3441 )y +3(A-1)z=0

has non-zero solution. then p:ﬁ - qz =R =

D0EBer S350

(A-1)x+(34+1)y +212=0

(A=1)x+(44—-2)y+(21+3)2=0

2x+(324+1 )y +3(2-1)2=0 $ I3 F&S Gole A GBS, Bocd
DDD) Dewden p 5005w g oS, WDV p'+¢°—pg =

Options :

15

Question Number : 7 Question Id : 814578167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let - =x + iy be a complex number,
A={z/|s <2} and B={z/ (1-i)z+(1+i)z >4

Then which one of the following options belongs to A (1 B?

Z=x+iy 8 DoSY Doads,
3 £3
={z/ |7| =2} &80 B={z/(1-i)z+(1+i)z 24| wHotro. WDy &
Sod DTS AN B O 3030

Options :

\E-:-lf
2

1. v

~

T
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2. %
1
N2 =
-
s
3 =
2 + 2i
4 &

Question Number : 8 Question Id : 814578168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The solutions of the equation z° (1 — z*) = 16, z € C, lie on the curve

z € C, 22 (1 — ) = 16 DASBEAD GBS, FGSHeD Gol HFo

Options :
e
=1
7 ®
2 =3l +2
1 ®
7=2
4.v

Question Number : 9 Question Id : 814578169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If z.z,—z.—z forms a rectangle of area 23 square units, then one such = 1s

S Z

Options :

1
—+4aJ3 1
2

1, v

2. Z,—z,—2 @ 243 & || 0H0r0g) 050 B0 a8 BS SESPD), SN, ©EB6Ed
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Question Number : 10 Question Id : 814578170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

8

/ -y . 16
[ cos@+isiné [1+c059—r5111:9

sin@ +icosé . 1+cos@+ismné

Options :

.

bl

Lad

2cos8 @
Y

2cos 16 &

2sm8 6#

2sm 16 @

®

Question Number : 11 Question Id : 814578171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let S be the set of all possible mtegral values of A in the mterval (=3, 7) for which the
roots of the quadratic equation Ax* + 13 x + 7 = Oare all rational numbers. Then the

sum of the elements in S 1s

(3. 7) @0d60e’, Ax’+ 13x + 7 = 0 I DWEORAD S, Qareren Wy
SEEIOL Roaen SPHTEIS JG[Ruaiy A GInE), ©) RITos Jewde DS S
3BT, WYY S &' Aresty Do

Options :

.

4
v
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3. % 3
1

4. =

Question Number : 12 Question Id : 814578172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

= " g " P ~ | ~
@ 1s the maximum value of 1-2x—5x" and £ 1s the nunmimum value of x™ —2x+r . If

Sax® + fx+6 > 0for all real values x. then the interval in which 7 lies is

1-2x—5x" 0308, H0Q S @, x* —2x + 1 AAFY SR S . Db TPHS Ve x &
Sax® + fx+6>0 @008, RN\ 7' €0G othbo

Options :

(-5, o)

b2

. C27)

(11, 13)
v

Question Number : 13 Question Id : 814578173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
For the equation x* +x° —4x” + x+ 1=0 the ratio of the sum of the squares of all the

roots to the product of the distinet roots is

P 47+ x4 1=0 2DEGEES (v ©) Sreru Sgru SgEs, ATy rere

wrdd (o QS

Options :
L 1:4

3D
2R
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Question Number : 14 Question Id : 814578174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a,. . 7,.0, are the roots of the equation ax* +bx” +cx” +dx+e=0 and «,.f,.7,.0,
are the roots of the equation ex*+dx’ +cx” +bx+a=0such that 0< a, < B, <y, <9,.

0<a, <P, <y, <6,, 4y —=0,=2=F,—1,. /1—-P=06,—a,=4, then a+b+c+d+e=

. y - il e oy s e M a . F N et T

O< <P, <v,<9,, 0<ay<P,<),<6,, -0,=2=f -1 NHn-pH=0-a,=4
DTN Suey T puomeeey : < e wecx 5 g
esclogéodn ax” +bx” +ex” +dx+e=00nE), SFren @, B.7,.6, DO0N a,. F. 756,

o ext +dx’ +ox’ + by +a=0 By Sireren wond, ey a+b+c+d+e=

Options :

10

[
x

Question Number : 15 Question Id : 814578175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The total number of three digit and five digit integers which can be formed by using the

digits 0. 1. 2, 3. 4, 5 but using each digit not more than once in each number is

0. 1, 2, 3, 4. 5 ®o80d &OHATHD, 5°D DB oS w88 Ko &)E‘.Jbb ot
&N HoDLTT, DBG 3 905V LoD HBAIL 5 @oSw DoL Ao Lo

Options :

100

], ®

600

2. %
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700
3.

L % 800

Question Number : 16 Question Id : 814578176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

At an election a voter may vote for any number of candidates not exceeding the number
to be elected. If 4 candidates are to be elected out of the 12 contested in the election and
voter votes for at least one candidate, then the number of ways in which a voter can

vote 1s

w8 W) §S" 28 BlID) 0I0) §'SOVS 70 DoBgh oS F0ole® o 2dold WaIgEULSS 2t
SODSDY. WOKSD SR 12 008 F' oS’ S ©esBIS ) S'SOR Sy
300050 88080 Ed0 Bu¥ ©98330 ST Buld a3, 8u BulIED Bulades) SODZON DO Doty

Options :

793

1585

Question Number : 17 Question Id : 814578177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let x € E_Dbe so small that the powers of x beyond two are insignificant and negligibly

small. For such x, if (1 — x )’ (2 + x)° is approximated by a + bx + cx’, then

atb+tc=

Toll B0 0o DrBS0 ¥ x € K a0 G200t x € F e9dfodd (@0 @8 otro.
werod xS (1-x)P2+x)° D a + bx + ex’te 6:25°00008) B WD a+b +c=

Options :

—30
LW
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144

2B

80
5.9

127
4. %

Question Number : 18 Question Id : 814578178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
¢ ok
For 0 < x < 1, the expansion of Ll + —J is
X

(1Y
0<x<18 |1+—| oowg, dYoe
\ X )

Options :

1+L_L.{112-4-;3[1]3_135(1\34*
C2x 0 2tl2x) 0 3t 2x 41 \ 2x)
], *®

1 o 1x .1'_]_131‘3\/; :

L 2 mE T my T
2. v

X /X 3

1+L+—rr+%\;ﬁ+l—!¥:{; .....
- Jr 2 2! 2 31 2

1 1 1(1‘31+13(1fl

X 2.\’\/; 25(3‘:‘, s 31l 2x ) Jx
4. ®

ccccccc

Question Number : 19 Question Id : 814578179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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4x*+5x*+7  Ax+B 3 Cx’+Dx*+Ex+F

If = — - . then
(#* +1) (x*+x*+1) x"+1 X +xt+1
B+2(D+F+E)-C.A=
4x° +5x" +7 Ax+B Cx’+Dx’+Ex +F L
, — = —+ . ©od, BN
(F+1)(x* +2%+1) x"+1 x4+ x? 41

B+2(D+F+E)-C.A=

Options :

0.4 0
. 3
2.m
.
3 &
=
4 &

Question Number : 20 Question Id : 814578180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

. 4l 43T . 43T, 457 PO F A b
SI §+cos —s1n +s1n +Cos —sm — =

Options :

1

4
] ®

1
7 = 2

0
3 #

3
v 4

Question Number : 21 Question Id : 814578181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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a—=

| tan’| -1 3
41 \ a a
Cosec™| | ——+C0s —.cot 5a |sec— |=
2 =T ) 2 2
| tan ‘ +1
] L & o)
Options :
2«
1. #
Sa
z
T
——40
2
3. %
5
—i
2
4 R

Question Number : 22 Question Id : 814578182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : If A=15° B=17% and C = 13° then
cot 2A + cot 2B + cot 2C = cot 2A cot 2B cot 2C
Reason (R) : Ina APOR,
Tanj—D-TauQ+ TleTan%-é-TangTal]%:l
ﬁ%ﬁf’ﬁfﬁsaﬁn (A: IfA= 15° B=17° 6050 C=13° a0
cot 2A + cot 2B + cot 2C = cot 2A cot 2B cot 2C

s28eses0 (R): 208 APOR ¢5° Tang’fan% - Tau% TanE - Tang]‘au - =]
The correct option among the following is
&t Sold DTS HOGDIE

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

(A) 25, (R) He5g050 00050 (A) 8 (R) HOGHS 568
1. ¥

~

T
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(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)

(A) DS, (R) Dg50 @00 (A) 8 (R) DOGLS 258€s 575

[
®

(A) 1s true but (R) 1s false

(A) RSERAW, 5°0 (R) ©90Sg8w

(A) 1s false but (R) 1s true
(A) @DSAW, 3R (R) DSg8w

4. %

Question Number : 23 Question Id : 814578183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The solution set of the trigonometric equation tan € + Scot & =secf 1s

tan @ + 5cot € = secf DAESEI0 BE), FEBHL DD
Options :

{6’ | 6=2nrx +Z ne Z}

-

1. ®

{9/ HZHE-I-(_—I)":;JIEE}

i

b2

{H/H:nﬁr+%,rrei}

Question Number : 24 Question Id : 814578184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform



b, &
If Tan™ & e Sec! x+Tan™

1_% _then ¥2 =
z 8 8

1
Tan™ % + %See" x+ Tan™

%:% oD, B x* =

Options :

12

2.

Question Number : 25 Question Id : 814578185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

1+4/10

Assertion (A): Cosech™(3) = log ( 2 J

Ao . i
Reason (R):  ¢“M ¥ is a root of the quadratic equation x p*—2p—x=0

1+m
'%

QBYBBgEW (A): Cosech(3) =log [ ]

8D (R):  x p*—2p—x =0 S8 DdEGea50 TIE), &l adr s Y

The correct option among the following 1s
S8 500 QYOS DOADIL
Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

(A) 28550, (R) H8550 550050 (A) & (R) HOGS D58
1.¢

~

T
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(A) 1s frue, (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 28520, (R) D555 oS (A) 8 (R) DO D8es S

(A) 1s true but (R) 1s false

(A) “aésm, 50 (R) 005550

(A) 1s false but (R) 1s true
(A) 928, 5 (R) VLI

4 R

Question Number : 26 Question Id : 814578186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a AABC if |4 =3B, CA =9 and BC = 16, then the length of AB is

w$ AABC &° |4 =3|B, CA =9 500050 BC = 16 ®00d, 9t AB aing), TED

Options :

5

3
1. =

?

3
2w

2
] &

35
4.¢ 3

Question Number : 27 Question Id : 814578187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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1+e0sC I +cos A

In AABC, -

Lt 5 A A

I+cc~sB_

1 +cosC i 1+cosA

AABC &°
R R

Options :

2
3R
1. %
R
2
2 R
"
3
2R
3.¥
6R
4% O

kB

1 +cosB
S

“NNE -
}1 L Ig

Question Number : 28 Question Id : 814578188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a triangle ABC., 1fcos AcosB+smAsmBsimC=lthena:b:c=

S Bz ABC e5° cos A cos B + sin A sin B sin C =1 e9a0d, @Q}b@ﬂ:b:(’:

Options :

l:l:«E

1. ¢

[
¥

\/52121
w

1:\6:1

Question Number : 29 Question Id : 814578189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Let OA=a. OB=b be two non collinear vectors, ﬁ:xl E+_1:1 b. O_Q::c:2 a +j--‘13

Lh

-

and £0=04, BO=0B.1f x,=—, x,=

-3 7
— Y =— V3=
4 4

1
-

W |

OA=a.OB=b e VDAL S0 Bothd HBF OP=x,a+y,b, 00=x, a +y,

208050 A'0=04, BO=0B o00omrdw. =

90008, )Ny
Options :
P lies mnside the A 4'OB and QO lies outside the A 4OB
A A'OB ¢S50 P 602008 5500350 A 4 OB 36000 O &olXold

P lies outside the A 40B’ and QO lies on the A 4"OB’
A AOB' 3000 P 6020l 00N A A'OB' D O &oliodd
2. %
P lies mnside the A 4OB and O lies outside the A 4 OB’
A AOB S0 P 608006 0050 A 4AOB' Je0dw O &ollod

P liesonthe A 4'OB and QO lies outside the A 4OB

AA'OB O P &otiod SO00S0A AOB 3000 O &oltleldd
4.¢

. then

W o

Question Number : 30 Question Id : 814578190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The position vector of a point P 1s 2;+}+32* and a=—i—2k, b=i +}+2AT are two

vectors which determine a plane 7. The equation of a line through P normal to » and

lying on the plane 7 1s

2 Qo) P Iy S DOF 2i+ j+3k 208050 a=—i—2k, b=i+j+2k e ek

So 78 ATOFON. b L VoW &oldr, P Dotddsd ot F'dr Svo 7 P Gol

OarO08 80

~

T
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Options :

;:2}+}+3?+,2(—;+5}—2£_')

1.v
r=2i+j+3k +A(i+j+k)
2. ® |
r=2i+j+3k +A(-2i-j+3k)
3 R
r=2i+ j+3k +A(-3i+4;-5k
4. %

Question Number : 31 Question Id : 814578191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a quadrilateral ABCD, the point P divides DC m the ratio 1 : 3 internally and Q 1s

the midpoint of AC. If AB +AD + BC —2DC = APQ. then the value of Ais

w8 SSoEREw ABCD ¢, DC &0 1 : 3 Jiy8S° eoddom aociotd Dot P

20800 AC aiwsg), Soe) Dot Q. AB +AD + BC-2DC = 1PQ eand, A dend

Options :
-

—

], ®

b3
&
|

Question Number : 32 Question Id : 814578192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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p=2i-3j+k,q=1i+j—k.Ifthe vectors @and b are the orthogonal projections of
I - - ; axb
pon g and g on p respectively, then ——==

a-b

P=2i-3j+k.g=i+j—-k, T P 00 § P 7 © B0, woe DED DAFW
ﬁxg_

JETP T O b e 900d, =
ﬁl‘;

Options :
27 +37 +5k

192

2i +37 +5k

J38

2. %
27 +37 +5k
2
3.
3 -2
iw 13

Question Number : 33 Question Id : 814578193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let a= 2i —3j+4k. b= 7i+2j-3k, c=i + j+k. The vectorx such that x-c =60

and perpendicular to both @.b is

a= 2i-3j+4k, b= Ti+2j-3k, c=i+j+k @K x:c = 60 Bo5en
28030 a.b e BoloddS Lo Gol DOF Y =

Options :

14i —6/-12k

1 &

i+34;+25k
2. v

~

T
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4i —21j-12k

6i —6j +28k

Question Number : 34 Question Id : 814578194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The shortest distance between the line 7

plane 7 « (7 +57

2

7=

B005g (10 IR BB BIGo

Options :

1
e W3

s
343
®

)

10

3. ¢ W3

11

j + 3k+A(i -7 + 4k) and the

i =27 +3k+A(i -]+ 4k ) 6% 2008050 SVADT (7 +57 +k)=5 e

Question Number : 35 Question Id : 814578195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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For the following frequency distribution, the variance 1s approximately equal to

& S08 FJ:eg VAT VS, VYYD CINE), SE°0NeaY) VLS

Class Interval 0-5 5-10 10-15 15-20 20-25
S5¢e3 9000
Frequency 4 1 10
NIV

)
(9]

Options :

e HL)

fad
<
L
£

td
®

Question Number : 36 Question Id : 814578196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the mean of the discrete distribution 8. 9. 6. 5. x. 4. 6. 5 1s 6. then its

standard deviation (nearest to two decimal places) 1s

@aﬁcgs&é P03 8.9, 6. 5. x. 4, 6. 5 A0S, ®oEaidigaie 6 QNN), TP S V0
(Coto> (703" da00 HED)

Options :
2.50

Question Number : 37 Question Id : 814578197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

T
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Correct Marks : 1 Wrong Marks : 0

If A and B are events of a sample space such that PPAU B)= —.P(A(1B) = i and

W

P(A)= %,then P(A N B) is

P(AUB)= %  P(ANB)= % 500050 P(A ) = 2 eciglotay oS e:ees’ A 50050
.

B e Gocd Dotaden and, P(A N B)

Options :
5
2
. & 12
3
2. % B
4
5
3.8
S
4 ® 4

Question Number : 38 Question Id : 814578198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

and

f_ul,_.
1 | =

Let X and Y be two events of a sample space such that P(X) = —, P(X/Y)=

P(Y/X)== then

h |

| ra

PO= =, P(X/Y)% 08010 P(Y/X)== e0abexn 770ine es56ees X $H005n

b | =

LN

Y 0 God) DL 5T, B30
Options :

P(XNY) =%

| ®

~

T
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P(_XuY)=§
2. % h
P(Y)=—
()=
1w
p k]
P(X/¥)==
4. )

Question Number : 39 Question Id : 814578199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

then

-~.]|f..u

. 4 -
Let A and B be not mutually exclusive events. If P(A)zE.P(AmB):

P(3)-

~1| W

A 0050 B e D838 D80 éased S 800 o. P(A}zg——.P(Aﬁﬁ)z

s, P(5,)-

Options :
], % 0
ol
ol 28
-
>
=
-
7 R
4
7
4. %

Question Number : 40 Question Id : 814578200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If 20% of the bolts produced by a machine are defective then the probability that out

of 4 bolts chosen at random. less than 2 bolts will be defective . 1s

28 0oBo BOIPE I (F @goweﬁ“’ 20% S DS0 FOD 0B, OIPDYD l)éon“ AN 1,508 4
ﬁ‘@qgoueﬁ‘ 2 €063 B, (TPQot0 ¢S5 00 E0d) 988 SIS

Options :

0.2048

] ®

0.4096

b

s

0.8192
v

0.1024

Question Number : 41 Question Id : 814578201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a book consisting of 600 pages, there are 60 typographical errors. The probability

that a randomly chosen page will contam atmost two errors, 1s

600 2D SO 8 o &° 60 e S° e &) 0. OB YD YKol 2$) 'S 8
DS BOQIP Totdd SN GolitePS DoaPadge

Options :

1
L
& 3

[
®

~

T
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Question Number : 42 Question Id : 814578202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If M 1s the foot of the perpendicular drawn from the origin O on to the variable line L,

passing through a fixed point (a, b) then the locus of the mid pomt of OM 1s

26 Dot (a, b) Gow Faktobn $Oed H6¢ S L 8 dure Dot O vod ADD
©08) o M esanad OM 065§ Doy A3s), Dot DEBW

Options :

b 3 3 9
X+yv =a+b
1. ®

2 )

2x"+ 2y —ax —by =0

2.

ax + by = 0
] ®

2x°+ 2v*—ay — bx = 0
4 &

Question Number : 43 Question Id : 814578203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When the origin is shifted to the point [E_ by the translation of coordinate axes,

I

then the transformed equation of 32x* +8xy +32v*— 108 x — 108y + 99 = 0 is

-

S0P BDolioa)sd {

o | Wl

} BoceHB0 QEFDHE WEO DTS HOSGS TIT° S0 35

S %)

32x7 + 8xy +32)7 —108 x —108y + 99 =0 RaDSCE0 CIVE), B 0BE RWSBEI
Options :
72X+ 56Y' - 63 = 0

3

X2 14XY - 7Y’=2 =0
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32X 16XV + 32¥2 228 =0

IIXEL BXY 4+ 320°-63 = O
4.

Question Number : 44 Question Id : 814578204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A line L, passing through A (3. 4) and having slope 1 cuts another line L passing

through C at B, such that AB = AC. If the equation of line BC 1s 2x—y+4=0 , then

the equation of AC 1s

e 1 P 5D A (3, 4) B otidad) (oG FOD a¥ 06 O L1, C thot 'ad 10030
Ga Lr &0 AB = AC 0ot B 56 830G 08, 26¢ 520 BC 0086830 23—y +4=0
oS, D5 B AC DS

Options :

Tx—y-17=0

x—y+1=0
x—-T7y+25=0

2x+3y—-18 =0
4 %

Question Number : 45 Question Id : 814578205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Angles made with the X - axis by the two lines passing through the point P (1, 2) and

. . . - ,
cutting the line x + y =4 at a distance 5 units from the point P are

J6

P (1, 2) Dot ot Fehr x +y =4 08¢ S O P dood g Q3L BrGoes”

20300 G0t DEY Ben X — wEod B3 Srre
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Options :

T 3
— and
5 10
| ®
T T
St and —
6 3
5. 8 _
g S5t
— and —
12 12
3. &
T 3T
— and =
4% 8 8

Question Number : 46 Question Id : 814578206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The straight lines x+ 3y-9=0,4x+5y-1=0. px+ qy+10=0 are concurrent if the

line 5x+ 6y+10=0 passes through the point

x+3y-9=0.4x+5y-1=0. px+ qy+10=0e0 ©DLE O WGLgotvE VO O

5x+6y+10=0 ©s 2Jola)) (oG® Tl

Options :

v . -p)

cu &P

% (. —q)
(». q)

4.

Question Number : 47 Question Id : 814578207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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For / € . the equation (2/—3) x>+ 2/xy —v* = 0 represents a pair of lines

JERS, (27-3) x*+ 2y —y" = 0 D0¥8e0 88 DG TaPOTPYR)Y, DPDowdd

Options :
only when /=0

1= 0 ©0WSY 1 STBD

| ®
for all valuesof /€ 5. — (3. 1)
l€eR—(3,1) adws), 9 DRVJVL
2. ¥
for all values of / € (-3, 1)
[€ (73, 1) cS), @) DDV
3 W
for all values of / € &
[ER oS, ) DDV
4.%

Question Number : 48 Question Id : 814578208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The centroid of the triangle formed by the lines x +y =1 and 23° —xy — 6x> =0 is

6% B0 x + 1 =1 0050 217 — xv — 6" = 0 0F D6E Bebes Soge &80

Options :

(0. 0)

g

3.4

~

T
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Question Number : 49 Question Id : 814578209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

4 &

Two pomts from the set of Concyclic points of the circle passing through (1, 1), (2. —1),
(3.2)1s

(1, 1). (2. 1), (3. 2) oz V'aDd Hydo AAWS), DSSSADH DoDHL DA™ Fotd
DotdeHeN

Options :

2 \2°2
2. ¥
5+45 1445 ) [ 5 \/?HJE‘,
, o S e,
2 " 42 Jl2 %2 4J
3, -
5 51 55 5145
7 3" 2% 33" 8
4. % |

Question Number : 50 Question Id : 814578210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the polar of a point P with respect to a circle of radius » which touches the coordinate

axes and lies i the first quadrant 1s x + 2y =4, then the point P is

QErHE T TR S Pl Gols 1" TPgPCoIL Sy%o KyaPy wd 2otioed) CINE)
B OB x + 2y =4r SOND, B &otioe)) P

T

Options :
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2. ®

(2r, 3r)
3.

(-7, 4r)
4. % |

Question Number : 51 Question Id : 814578211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the circles Tl*Tl“-T“3(3*J5yr+3+6J?=ﬂ and x°+y’—-8x—6y+k’ =0,

k € Z, have exactly two common tangents, then the number of possible values for & 1s

JJ+TJ-ZT-2(3+J?Lv+8+6J?=0 28atw x*+3y*-8x—6v+k =0, k € Z.
SYBINLN WIYBIVP Totdd GG 053 DO 5O ol , WD £k & o TS
DEVDL VodDg

Options :

8

] ®

Lh

td
x

11

Question Number : 52 Question Id : 814578212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The circle S = 0 cuts the circles C,=x"+3°— 8x—2y + 16=0 and
C,= x4+ v*— 4x—4y—1=0 orthogonally. If the common chord of S = 0 and

C1=01s 2x+13y—15=0. then the centre of S=01s

4

C,=x"+y - 8x-2y + 16=0 0803w C, = x* + 3" — 4x—4y—1=0SBda00)
S =0 530 VoxNEBAN BWod. C1 =0 SHOGW S = 0 HBAWe &6 &g
2x + 13y —15 =0 @08, S =0 aws), Soo

Options :

<

Question Number : 53 Question Id : 814578213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The equation of the circle passing through the points of intersection of the two
orthogonal circles S, = x*+ ¥" + kx—4y—1=0. S, = 3x" +31° —14x+23y-15=0

and passing through the point (— 1, —1) 1s

Boto @08 Dydanen 5= x*+ v + kx—4v-1=0,
S,=3x7 +317 —14x+ 23y -15=0 © B DoH® (ot dudosn (—1.-1)

Do) Mot VA Jyo DAEGEI0
Options :

X+y—8x -2y -12=0

~

T
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3x° + 3_1-*2+ 18x =12y

®

[ %]

0

Sx3+ 59— 2x + 15y - 17 =0

5

2

C+yV—5x+M4y+7=0

Question Number : 54 Question Id : 814578214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider the parabola v* +2x+2v—3=0 and match the items of list - I with those of

the List - II

¥V 4+2x+2y-3=0 Doed00irdy Siwfod Hbakn @Rer — 1 & gayS e

ge2de — I1 €5°) TS 2 DESSE

List -1
g |

A) 2x-5=0

The correct match 1s

DO %9
Options :

A B C
I II IV

1.

List -1T
sreue — 11

I) Vertex
I

II) Focus
o

III) Equation of directrix
DODBBD  DVEGEIED

IV) Equation of the axis
o DSBS

V) Equation of the Latus rectum
T Lotdo PVSEEI

~

T
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A B C D
V I IV II

[
E

= »
=M
-

- O

Lad

A B C D

Question Number : 55 Question Id : 814578215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The normal at a point on the parabola y* = 4x passes through (5. 0). If there are two
more normals to this parabola which pass through (5. 0). the centroid of the triangle

formed by the feet of these three normals 1s

= 4x HOPSLOD0 D & Dotided) $6 WD S (5. 0) DolidPH (Do Fwod. (5. 0)
Doldef) WO FOD HOWWE Told VDU T &oll, & AP WDV SRV
FHSNOS” S E Subezad CInEy Some A

Options :
(l 1)
w A2 B

(4.0)

[
®

Fad

Question Number : 56 Question Id : 814578216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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The eccentricity of an ellipse passing through (33/2.4/10) with foci at (—4. 0) and
(4.0) 1s

!

(3v2.4/10) Detiaeh Hoom S, (—4. 0) SHOCKW (4. 0) LD Toaberr SO SYS S0

gy, &Sl

Options :
1
2
] ®
2
3
2.¥

al&

-

Question Number : 57 Question Id : 814578217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the product of the lengths of the perpendiculars drawn from the foci to the tangent

-

5
X

b =_TS.T+ 34/2 of the ellipse — +

= 1 15 9, then the eccentricity of that ellipse

-1“'

-

' b-
18

D

T+ L = 1 B8 2,850 g, 46, G =_T3:r+3\5 2 & TEHO 2ol A

a
©o8) Erorovge 9 ad, e O JyBo &S od®

Options :

NG

3
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2. %
1
9
3.
V7
4
4.9

Question Number : 58 Question Id : 814578218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The equation of the hyperbola, whose eccentricity 1s J2 and whose foci are 16 units

apart. 1s

TEHO B ErES0 16 orDED &0t V2 TP EOS ©S HorSwohe D050

Options :

4

9x"—4y" = 36

2.8
3 | 3 |
x"—y =16
3. %
X —y = 32
4 <

Question Number : 59 Question Id : 814578219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the points A (—1, 0. 7). B (3, 2. 1), C (5. k. —2) are collinear, then the ratio in which
the pomnt P (7, kK =21, 1 + k) divides the line segment BC 1s

Docdsnen A (—1,0,7),B(3.2.7),C (5, k. —2) en 28Dasren ewond, BC S

ot P (7, k=21, 1 + k) Do) D&t A3
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Options :

—2:3
1 B

i
2.

4:3
3 ®

X |
4 B

Question Number : 60 Question Id : 814578220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The direction cosines /.m,n of two lines are satisfying 3/+m+35n=0 and

6 mn—2nl + 5Im =0. If 0 is the angle between those lines then |cos 6| =

Gocd B &5 S ILmon o 3l+m+5n=0, 6 mn—=2nl + 5lm =0 O S

QEUPON. & Boled Saw 003 §'ts0 O YOS,

cos 6“ =

Options :
|

V6

1 &
S
2
2. %
1
6
3.¢
"3
V3
4. %

Question Number : 61 Question Id : 814578221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A tetrahedron has vertices O(0. 0, 0). A(1, 2. 1). B(2. 1. 3). C(—1. 1, 2). If 6 1s the angle
between the faces OAB and ABC, then cos 6 =

w8 Send 0(0,0.0), A(L.2,1), B2, 1. 3), C(-1. 1. 2) 00 335000 5O ol
OAB 206050 ABC wdwe &g St 6 wand, cos 6 =

Options :

|
1. # JE
19
5. 35
V3
2
3 &
17
i 31

Question Number : 62 Question Id : 814578222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2 3 4 1+x l

Bl i By e e S 8 g e
2 3 4 1—0 X~ X
2 3 4 1+x
1’c::rg(l+r~:):.*v:—'T S % 083D |im Fﬂg(lix) —lzk 29003
2 3 4 x—3) X X
F."')ETJD(:J 12k=
Options :
|
1 B
3
7 %
6
3.
4 ® 9

~

T
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Question Number : 63 Question Id : 814578223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

K, forx =1
i fix) = (91._”(\/1—._1)

- Jorx=1
3x"+2x-5

1S continuous on [0, »|. then k=

(k, forx=1
f(x) =1(9x-1)(Jx-1)

- Jorx=1
3x"+2x-5

[0. 0) D @&’J&Qélu oNd®, k=
Options :

1

Question Number : 64 Question Id : 814578224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let g(¥) #0e2'(x) £0.f(x) #0,(») #0. K Flx) =f(x)gl(x)
Gx)= f'(x)g'(x) and F'(x)=G(x)H(x) = F(x)K(x), then H(x) + K(x)=

g(x) =0, g'(x) = 0.f(x) = 0.f(x) 20, @odForro. F(x) =f(x)g(x).
G(x)= f'(x)g'(x), @S> B F'(x)=G(x)H(x) = F(x)K(x), o008,
LX) Nab H(x) + K(x)=

Options :

~

T
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]_Sir;
f+g+g
- & 8 B
feg+re
free
g_w
ol o
f g' f’ g
4. v

Question Number : 65 Question Id : 814578225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Ify= M + log J1—x? . then —=

V1=« dx

xSin™
VS e o log V1-x" eownd,

[ —a dx
Options :
Sin~! x
"
l—x°
1. =
S~y
(1—x° )%
2
X
]t
1.%
¥Sin™ ¥ 2x
\/ Lo t® J L2
4. %

Question Number : 66 Question Id : 814578226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0
Let f (x) and g (x) be twice differentiable functions such that

f(x)=x"+gM)x+g"(2) and g(x) = fF)x* +x f'(x)+ f"(x). Then, f (x) — g(x) =

f(x)=x"+ gM)x+g"(2) Hoasw g(x) = fD)x* +x f'(x)+ f"(x) ©Ogltw 1 (x)
000K g () @O Toltid L BSZVACD DVeIDOITPLN WKLo, B [ (x) — g(x) =

Options :

2545
1. ®

R
3x"+6x+1

Question Number : 67 Question Id : 814578227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. . .1 . .
If the area of a circle increases at the rate of —=sq. units /sec. then the rate (in

Jn

units/sec) at which the perimeter of the circle changes. when perimeter 1s J7 units, is

| .
W8 BB JFUgo —= &8 || ATPAED / DED TEW S, DOOSB, 0 e S
T

VI O TP GSRE, Sy Sobw SOBS'D JSeddy Béw
Options :

2
1.v

~

T
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Let @ be a fixed positive real number and » be an arbitrary constant. For the curve

2 . : . :
v = —, if the length of the subnormal at any point («, 3) 1s proportional to a2, then
a

=
"

X

”n—l

S5A8 D Dot (a, B) DG DT & WedowdD Fad) o2 L VS DrI o &°
G063, E.*J?Q)Dci:} n=

a 28 B TR PTZEIW SHO0KN 71 208 CIFEHINE VTESN Wo¥oel®e. v =

Options :

2
1 ®

1
2w

0
3.8

3

2
4.9
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In each of the choices given below, a function and an interval are given. The correct
choice having a function and the associated interval for which the Lagrange’s mean

value theorem 1s not valid 1s

$08 Z)J DAFOT 28 DDADID SO0KN &8 W0 FIIWH®OW . OPo S0gSN
SreLg R}tgvoeéﬁm INSTALAY o4 a’fcﬁmw oo Q&i)odjoiw OO0 RS eaég{‘baamdbg
©oJo FO0 &) CORALAGY
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log x; [Le]
2 W
2% o o
3.1‘—4'[1 h]
3. ¢
(x—2) (x—4)";[2,4]
4 B
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Let p(x) be a polynomial of degree 3 having extreme value at x = 1.
[ p(x)+4 ) \

If lim [&4—2 =6 . then (d—' =
x—0 X ) \ dx JI%

8 DAPEEd BEMAA 2o DA P(x) , ¥ =1 S WoH(S DD sgg &0 S0 0.

lim +2

x—0

J.'z

=6 o003 (Ql N

dx

Options :

2
1. ¢

0
2. %

—2

3. %

4
4 B
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1. &

3_%

2-3 y*+ Tan™ (3fy)+C

%y% +6 Tan ' (§1?) + C

2

33 v

+6 Tog(1+y*) +C

s S+ Tan'@y?) +C
TV
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|
Fork € (1. o). d
( ) J-l+kc05x '
1
ke(l.x) s, d
( ) j1+kcosx ;
Options :
2 -k
} Tan ™| . —tan—
1+ k7 +K
1. &
| \/k+l+\/k—ltan§

e . NE+1—Jk=1

~

T
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1 Vk+1+k—1tan= ]
j—lgg'l ‘3‘ +C
k™ +1 \/,('+1—\/k—ltan'5
3. ¥ | |
/ 3
1 v‘f:—lcns_‘l-l- k—lsm%\-
— Tan™ 2 =1+C
k= —1 Jﬂ-+1cgs%—\/ﬂ'—1511}%j
\ i
4 R
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3x {2 . - -
Ie (x* +sindx) dx=

Options :

(2 .2x. 2 3, 4 )
—e‘s"(l $ 554 2 gindx— cosdx [+ C
3 9 27 25 25
| ¢
¥ 2% Z. 3. E )
Y W BT T cos4rJ+C
3 9 27 25 25
2 &R
> 2. 2, 3. - )
_ g ¥, + —sin4x—— cosdx [+ C
3 & 27 25 25
3.“
. s k
—e‘h[ 2 —2T+ 2 — 3 sm4x—— cosdx +C
g 9 91 25 : )
4. %
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N, 12 S 9 m
Iff A TR e : ~+C then i
(1+x" +x°) ((1+2°+x°) r
2x 2 +5x X" m—{ _
j - dx= —+C a0d , ¥\
(1+x° +x°) ((1+x° +x°) r

Options :

3
1. =

4
2.

5
3 ®

6
4, ®
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;s %1
, 19, 21 n* )
] ( — — [ 1+= || =
H1_1”1)1C 1“ :_rJ n* |

i

Options :

]. ® .

b3
x
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g
]‘ 3dx
T \[Sﬁﬁs'n‘r x—38FT i
4 J+é |
Options :
3v2
T
|, % A
3
—
2. %
/4
8
3 ®
3
— T
8
4.v
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If the area of the region bounded by vy =cos x. v=sin x, x = = and x = & 1s bisected

X
4

: ; T
by the line x = a. then 5111( a-+ 1

P=cov X, =8 x = % BAID ¥ =1 © PN DOWPNS JFPLUrR) X = a 88 Botd

QD TP I ) sh1(n+%] =

Options :

V2

2+J§

N3 +1

2
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= ) 4+ -1 :
If the family of curves v=a ¢ + b e, where a, b are arbitrary constants represents

. . . . dv d’v) df
the general solution of the differential equation /| x, v —.— =0, then =— =
dx dx° ) dx
W | (h (?T:_]‘ \ 4x -X
DSV D80t f| x. ¥ I J:O O Jorén PSS y=ae +be™, a
x dx

0003 b e ASFdYDNE VTPSPLD, VOB, WY)W ::l:
7% .

Options :

97 39
ax- dx ‘
| ®
3 "
d__; B Bd‘1 = 40’1
dx dx” dx
2.
3 2 :
ot W . SN
dx dx” dx
3. %
N 2
d—': _ 4 : + 3
dx dx-
4. %
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If the length of the sub tangent at any point p (x. v) on a curve f (x, v) = 0 is x + 717,
then f(x,y)=

D890 f (X, 1) =02 D Do p (x, ¥) SGIT &0 083 S T x + 7y 0ad ,
0D\ f (X, ¥) =

Options :
xy+ey—Tx
| ®
X
—+7x—cC
V
-5 B
‘2
I sey=s
3.V
Ixy+cy—x
4 %

Question Number : 80 Question Id : 814578240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the general solution of the differential equation (v—x+1) dv—(v+x+2) dy=0is

f (x. v, ¢)=0, then the value of ¢ such that 7(1, 1, ¢)=0 is

(v=x+1) dy—(y+x+2) dr=0 03805 D60 V), FTCE P
f(x. v, ¢)=00008, f(L 1 c)=0eocbytty &l ¢ Jed

Options :

_,_1_

1. ®

<
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§0Q§ SIETP)

The nuclear forces are

Options :

b3

long range repulsive forces

&3 T°g8) DEGER BT

long range attractive forces

O3 rga) LE3Es WL

short range attractive forces

VOY ﬂ“g@ 35083 oeueen

short range repulsive forces

WO a°33) DEOL 2PN
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Due to an explosion underneath water, a bubble started oscillating. If this oscillation has
time period T, which is proportional to P° SP EY, where P is static pressure. S 1s

density of water and E is total energy of explosion. Determine a, fand vy

) S BONS DF Yo S 28 200668 COJo WD PGBl S8 CUTPO ST
0o T, Sdokn P P ET S50 o065 SeodretesS” doduod. P- D0 Ddo, S- A PodS
00050 E- Xord D7 &8 48 0ond, a. f 00k ¥ 0 S8 oldels

Options :
=3 1 -5
U: — — —_——
2 P 3 ¥ 6
], ®
-5 1 1
ig= —. = —, V=
6 P 2" " 3
2.¢
1 -5 7
UZ—‘ :—‘ = —
2 P 6 ’ 4
L.
| 3 4
0::_- e —_— c— R |
3 P 2 * 3
4 R
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A car travelling at 15 m/s overtake another car travelling at 10 m/s. Assuming each car 1s

4 m long. What 1s the time taken during the overtake?

10 m/s a350e8® D), P 15 m/s 3toed® DOSPERS), SHTE S8 BB, VB T
4 m Fe) 500 E3) AoNd, & S BB HES HSOKo

Options :
165
1. ¢
08s
7 R

~

T
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If a body moving in a circular path maintains constant speed of 10 ms—', then which of

the following correctly describes the relation between acceleration (a) and radius (7).

10 ms™" 8 3oes” SYTSE HHoES" VB 8 SVHIH 0 93Gero (a) SHOAKY
o580 (1) § 50 DototrR), FPOS” AR, §obd oS 2B NS A ISIN

Options :
]
.T
a
| ® =
M
T
d
>
=y
2. %
JF.
4?.
da
>
=%
3.¢

collegedunia:s

India’s largest Student Review Platform



-

r-»

Question Number : 85 Question Id : 814578245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I£f0.57+ 0.8 j+ Ck 1s a unit vector then C 1s

0.5i+ 0.8 j+ Ck @& ok D63 ©and, C e

Options :

V0.89

1. *

0.2
278

0.3

v0.11
4. <
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A projectile 1s launched from point A of the given landscape with a water body as shown

m the diagram. The launching angle 1s 15°. From the following, identify the right maitial

velocity of the projectile with which 1t will fall somewhere in between the points C and

D.

(Assume g = 10 m/s?)

DS 9¢%0 NS 88 GededoD éga@ g"a@o %-::Cf) DS’ WrRodeteedd. A Eaaé)oé) a‘.’)ﬁg) Dol
& HEDOE S0 15° © S0 HIDo IoDVLGD. & Seg) C SH00%0 D Dotdiaher $¢iges

SPE VP TP P00 o
(2= 10 m/s’> 0§ E)

A B C
2 1 I T e

B
v

W

42m

Options :

21.5 m/s
1.9

22.5 m/s
7 B

19.5 mv/s
3 8

24.0 mvs
4. %
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When a bullet 1s fired from a rifle its momentum becomes 20 kg m/s. If the velocity of

the bullet 1s 1000 mv/s. then what 1s 1ts mass?

a8 Q0PS Dol WONWES EFCR 20 kg m/s QadgdP) Fotd@iod. &° e 1000 m/s
VoD & BFrLr A0S, Kdg0°@

Options :

30¢g
| ®

S5kg
2. =

20¢
3. ¢

500 g
4 ®
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A block 1s between two surfaces as shown 1 the figure. Find the normal reaction at both

surfaces.

[Assume g=10m/s’ :’

DS 9P DlP 2u¥ {5&}& Ooll) &b ;5065 GRowauteol). Oola) cHere) ::c_;.m 92002
?’3@ WD BT Sole.

[g —10m/s* @‘ﬁjgﬁo&]
tan6=3/4

---------

l10N

2Kg
QN2

LR TR AR RAR AR R LR AL R R RN Y

i
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N,=37.2N and N,=9.6N

N,=372N %005 N,=9.6N

1. ¢
N;=382N and N,=8.6N
N,=38.2N S0ciw N,=8.6N
2 W8
N, =40N and N, =4N
N, =40N S0c%» N,=4N
] R
N,=37.5N and N,=9.9N
N;=37.5N S06ac%w N,=9.9N
4. %
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When a body 1s acted upon by a resultant force. then the work done by the resultant force

1s equal to

208 SR DO 2006 DAY D & DO 200 WOSW D
Options :

its mitial kinetic energy

°Q Plod (22 €8

| ®
its mitial potential energy
o ot vedes 4S5

2, % =
change 1n the kinetic energy
(923 485 oS0°80y

3.V

~

T
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change i the potential energy

29 346 S0
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3.
m

W . . t
A force acts on a body of mass 10 kg, resulting in its displacement given as x :( %
| 28

e

where t 1s the time in seconds. The work done by the force mn 5 seconds 1s

10 kg Q30°80 @ 2oo O

co
6
\1
t g
Ef'
2
a-:-
b i
CA
&
&
-
[l

sy
[t—Jm. ‘T Dole ?Jéfg@i

0N, 5 ?uéng@‘ &9 2000 WO DO?

Options :

62017
1 B

3331]
7 ®

524]

3 8

60 J
4.9
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A bullet of mass 25 g moves horizontally at a speed of 250 m/s is fired mto a wooden
block of mass 1 kg suspended by a long string. The bullet crosses the block and emerges
on the other side. If the centre of the mass of the block rises through a height of 20 cm.
The speed of the bullet as it emerges from the block 1s

(Take g= 10m/s?%)

25 g BS50°8 0w a6 $BmISreBGesS’ 250 m/s Shest Yorddr, af S6%
FREAAS 1 kg (83078 0 D) OIS DFBod Toesd ) ol WAL S0k, 8
& D) Qaldy GIEy B530°8 Sofeo 20 cm 5 IVl WONSD & 2TE Hady Soks WAL
J%0Q Stfo 0do ?

(g= 10m/s? o 305%&)

Options :

300 mv/s
1. &

220 mv/s
2. %

150 m/s
3. %

170 m/s
4-o
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A circular hole of radius 3 cm 1s cut out from a uniform circular disc of radius 6 cm. The
centre of the hole is at 3 cm. from the centre of the original disc. The distance of centre of

gravity of the resulting flat body from the centre of the original disc 1s:

6 cm TPgPGSD GONS 2.8 NE S0 WY 3 cm © SYTSE Fodlo WONRIGER. Tolo
Q3% Soo 208 Solie ek 3 cm © 5 &J) B, L&) Sole ok DO OIS S (Gogioes”

P¢2) GIvgy, KOS Folold Ko o o,

T

Options :
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l cm
2. ¢

1.5cm
3 &

0.75¢m
4 ®
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For a particle executing SHM., determine the ratio of average acceleration of the particle

between extreme position and equilibrium position w.r.t the maximum acceleration.

DOFTPOPBE Sdo WO au¥ Stio CINE glere e‘.‘aogdeaoe.é'ﬁ ﬁﬁ@be‘i‘a P oDy Podo OO
YO PO 58 D000 Bges0 DENSL YD 0o ?

Options :

4

T
] ®

2,

T
2. ¥

|

/£
3 ®

|

27
4 R

Question Number : 94 Question Id : 814578254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform




Choose the correct statement

005 T80 0dodd ol

Options :
acceleration due to gravity increases with increasing altitude

B DOAS §'Q K93 B30 DENVBIE

acceleration due to gravity 1s independent of mass of earth

(50088 538e30 APGSZ08 D SEREHEDD

b3
®

a geostationary satellite can have a time period less than 24 hours

BrPSS eXffire PO S3d0 24 (otdw) ST BEY) ST Goliod

3.8

acceleration due to gravity decreases with mncreasing depth assuming earth to be a
sphere of uniform density
AP0 B o30S Fo3h KOS (T %0l S'th DO 56, K] B3

5505008
4.«
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A slab of side 50 cm and thickness 10 cm is subject to a shearing force of 10° N on its
narrow edge. If the lower edge 1s riveted to the floor and upper edge 1s displaced by

0.2 mum. then shear modulus of the material of the slab is

50 cm ©®od §d HOOW 10 cm Doliadn DO a8 Dol Cﬁ.x.ﬁzr ":0853‘:?.: ouddR 10° N
D) 200 é@ﬁoé&)&o&. 4L ép& o) &P ) Gow), N Woud X Wo Q‘Cﬁfﬁé,
©oud 0.2 mm Pfefodo Voo, BONS & DT A JITES (9Es50

Options :

6 Gpa

~

T
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4 Gpa
3 R

4.5 Gpa
4 &
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A meniscus drop of radius 1 cm is sprayed into 10° droplets of equal size. Calculate the

energy expended if surface tension of mercury is 435x10~° N/m

I em PgFdo B0 Sol0aPEyD Ko Dotidedd 108 DTS HOSTERL (o Botdieur® HISO
J0%08) ©8080 Bl ¥3 woth? FESle (N, B0 BSge 435x107° N/m

Options :

54.1x1073J
1.9

64.1x107°J
P

74.1x107 ]
3 " 4

84.1x1073 7
4 %
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The specific heat of helium at constant volume is 12.6 J mol K. The specific heat of
helium at constant pressure in J mol'K™! is approximately

(Assume the universal gas constant R=8.314 J mol 'K ™)

20 D000 S LrOa%e AL 12.6 T mol K. 8 Hiko 565 &I AR
eSredore J mol 'K ! DeSooErers’
(&)%'5 oTPQO30 @O‘“u?:o R=28.314 T mol 'K re 80§06 )

Options :

12.6
] ®

16.8
2.5

18.9
5.9

209
4.
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A composite slab 1s prepared with two different materials A and B. The relation between

Ks

their coefficient of thermal conductivity and thickness i1s given as K, =5y and

X, =2X respectively. If the temperature of faces of A and B are 75 °C and 50 °C

respectively, what will be the temperature of common surface?

A 30050 B @5 Dot JOB0 Dargreed” au¥ 0o0ing HOE SOl ST, 7 GRS
(90880 OO DelSNIH (IO DotioiPR) GV K, :% 000w X, =2X; ©ef

BT, SVWSW A CIVE), GGG 75 °C $H005 B 619 50 °C 0o, sy 6 oo
Iy, G Dots?

Options :

~
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] ®

50 °C
2R

3G
3.

125°C
4 &
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Work done on heating one mole of monoatomic gas adiabatically through 20°C 1s W.
Then the work done on heating 6 moles of rigid diatomic gas through the same change in

temperature

2l SFS EHESTEE TANHD 20 °C © 3¢ VEQLrP J& IoEE 2200 HO W ©d
SAD STE0Y 5B 6 SPeS0 B3t BLIBSITERDE PO & DLV 2285 H

Options :

OW
1 R

10 W
2. ¥

12 W
3. %

8 W
4 B
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If a gas has n degrees of freedom, then the ratio of —£ is
-

C
¥ TPOSVDIE 7’ DYBls B &I 1S & T°050eS) C—P ANNSB
2
Options :
n+2
7
1. v
2n+1
n
2 R
n—+2
2n
3. %
n+4
2n
4 ®
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A bus moving with an uniform speed of 72 km/h towards a building blows a hom of
frequency 1.7 KHz. If speed of sound in air 1s 340 m/s, what will be the frequency of
echo heard by bus driver?

72 ki/h S50 SGeS® 50t 8 Wy 2 Ebto IR HOIFEIRP 1.7 KHz Fsupdgees”
O FphHived. MPOS GV e 340 m/s VOB, WY EISEZ DVVew DBEHIV GV,
T30 doth?

Options :

1.8 KHz
1. v

2.0 KHz
2. %

~

T
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1.6 KHz

L
£

1.4 KHz

Question Number : 102 Question Id : 814578262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the 1image of an object is at the focal point (f) to the right side of a convex lens, the

position of the object on the left of the lens 1s at

¥ BB BSOS B0GTDS &Sy T Dotiosd) (£) 65 8 5008 GIvEy, HBEIotlo DEYGE,
EF08 550 TS & S0P Gy, PSo?

Options :

f
], ®

2f
2. %

<f
3 ®

oo

4.V

Question Number : 103 Question Id : 814578263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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0
On using red light (/1:6600A] in Young’s double slit experiment, 60 fringes are

observed in the field of view. If violet light ( =4400 A) 1s used, the number of fringes

observed will be

O%of) 22060 WOEL DAIPtieeS” it 2B (/E 6600 A ‘ e@cﬁyﬁomq@gw Gy5 EGoS 60
0
A

D& 2B GO0, LS

2 =4400 J B GHAPAY VG Hede Howg

Options :

30
], *®

120
2. "

60
e

90
4.

Question Number : 104 Question Id : 814578264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Young's double slit experument 1s carried out by using green. red and blue light. one

color at a time. The fringe width recorded are .. .. [, respectively then

Ol 2308 D% é@?ﬁo@é Q@érﬁa, DY) OO Ao Bofd oD  DEIGTP
O ORI B8, 0D DY SELOND SEKNP By, fr ., fy ©00D §obd eI’ 10

Options :

/8(_'; > 163 > /8,:;
. ®

Ps > Be > By
2. %

~

T
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Br > B3> Ps

By = Bs > Py

4. <

Question Number : 105 Question Id : 814578265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a proton 1s moved against the coulomb force of an electric field, then

28 DD EB0e°D Ervosd wer) S3B0E BIS” 28 FErDSD KOO,

Options :

work 1s done by the electric field

e 3D EB0 PL0° DO BN
energy 1s used from some outside source
2L 2SEo ol $80 DoliarIed

2.V
the strength of the field 1s decreased
EO WO SIS SHehrol

3 R
the strength of the field 1s mcreased
£ 200 SIS DEADHBE

4, ®

Question Number : 106 Question Id : 814578266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assume each o1l drop consists of a capacitance of C. If combine » drops to form a bigger

drop, then the capacitance of bigger drop ¢’ would be

w838 BV Do) C SPIEGDY 00 81 TPAodel. a8 DY Wothad SO
00 71 D), WotdaHOS) ZODB, 1K Lotiad) AN SPGB €' DS

Options :

~

T
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4
zlaﬁ
A
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5
3 &
c'=C-n’
4. &

Question Number : 107 Question Id : 814578267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A conductor of length 100 em and area of cross section 1 mm? carries a current of SA. If

the resistivity of the material of the conductor is 3.0 » 107 Q m, then the electric field

across the conductor 1s

100 cm e SO0 1 mm* 555N FPege OO 2.8 TEPESD DT g S
5A. & DTG5 gy AEGES 3.0 x 107° Q m ©owd, & TP (e A ESo

S DO

Options :

0.15 V/im
1.+

0.015 V/im
’ %

1.5V/m
3 R

0.0015 V/m
4 R

Question Number : 108 Question Id : 814578268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

If the Wheatstone’s bridge with four resistors Ri, Ra, R3, R4 1s balanced then the correct

expression 1s

Teei A PsPen Ry, Ra, Rs, Ry 50 D&

o<

S Q VLo 5@, go& TS DaESeso?

¥

Options :

R, " R,
R, R;
1.
R, _ R,
B R,
. w
R,R,=R,R,
3
Ri+Ry=R3+Ry
4 R

Question Number : 109 Question Id : 814578269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A circular coil of 10 turns and radius 10 cm 1s placed mn a uniform magnetic field of
0.1 T normal to the plane of the coil. If the current in the coil 1s SA then the magnitude

of the torque on the coil 1s

10 S0gn 300 el SHYTrsed S Pgrdasn 10 em. &°Q BerdS wowore 0.1 T

©ONTY 0D B0t AN G, TPIS DIAPVT), DD Ve SA OGS, Sl
2 (I OOOKY gIPe080 DD

Options :
500 tNm
1, ®
0.05 TtNm
2. %
0.005 TN m
3 %
Zero
QU™
4. v

Question Number : 110 Question Id : 814578270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A 50 cm long solenoid has winding of 400 turns. What current must pass through it to

produce a magnetic field of induction 47 %10~ T at the center?

50 cm © TS FOTOES” 400 éw 50 TR Sofo & 4mx107 T 0HFy o
D08 BB YJ) 0 WOKVEIH IOV DD DTPPo DN

Options :

105 A
. %

125 A
2. ¥

~

T
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200 A

Question Number : 111 Question Id : 814578271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If relative permeability of 1ron 1s 5500. then 1ts susceptibility 1s

B0 GlnE). F& DJId380 (permeability) 5500 @0, & S$d3¢ (susceptibility)

Options :

5500 x 107
] =

5500 x 10-’
2 R

5501
3. %

5499
4.

Question Number : 112 Question Id : 814578272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A moving coil Galvanometer of resistance 100() is used as an anuneter using a

resistance 0.1 Q) . The maximum deflection current in the Galvanometer 1s 100 p A . Find

the nunimum current m the circuit so that ammeter shows maximum detlection?

100Q GG o 306 & POISTVOOD 0.1Q ATTR), GICIFNeD &l SAIEENT
TFESYYD TPOSWLS (50R ©DSES gD DaPlro 100 pA . ©0NS, SN oot
503 DL DS Gol3 B HOY GDSES SO0 Gotaed

Options :
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100.1 mA

1. v
1000. 1 mA
2.
10.01 mA
3%
1.01 mA
4 ®

Question Number : 113 Question Id : 814578273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In CR circuit the growth of charge on the capacitor 1s

CR S50050e5R SR0E02) &333 Suthodder?
Options :

more rapid if the CR 1s smaller

CR Q) & 0003 500eS 8e

1. v

more rapid if the CR 1s larger

CR 36 000 25500 300
2. % ) =

independent of CR

CR 2 @5°0060
3%

mdependent of time

S*Q0g) SEPOED
4 R

Question Number : 114 Question Id : 814578274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform




- i - . ) . . " 5 H-"-
What 1s the amplitude of the electric filed 1n a parallel beam of light intensity l—)—}
| Jm*

-9x10°
4ne B

o

[ Assume

5\ W
(lﬂ ?z BSES $0) 357055 To® DSV Dz ES Lo HOD?
| il

1 0 Nm?

[ =9x10 o e 086 |

dne,
Options :

60 N/C
1. v

S50N/C

2
&

40 N/C

30 N/C

Question Number : 115 Question Id : 814578275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Photons of energy 2.4 eV and wavelength A fall on a metal plate and release
photoelectrons with a maximum velocity v. By decreasmg A by 50 % the maximum
velocity of photoelectrons becomes 3v. The work function of the material of the metal

plate 1s

2.4 eV #§ 0050 A S8ols g0 (50 FERDLH a8 ST B0 P DESYYED BOQ o v KO

FoB3-2dOFIOVD JLUSOFOR. A 5 50 % K SO FoB-duFgow HOR dtie 3U BHEE.
SONKS, & ST VEPGI0 0%y, HV HIODHKN odoth?

Options :

2.1eV
1. ¢

~

T
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l.7eV

7

2.8eV
7 #

2.0eV
4 ®

Question Number : 116 Question Id : 814578276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The ratio of maximum to minimum wavelength in Balmer series of an hydrogenic atom

1S

PEeEVS DOESTEDHVS” e3700 FEHS'V 0D 005N EUQ Boti BTZSNL AQ)S

Options :
9
5
1. ¢
12
7
2w
9
7
3 R
14
9
4 &

Question Number : 117 Question Id : 814578277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Alpha rays emitted from a radioactive substance are

OGO3P o°0L8 Do ol FLVSERS G 8&eeen

Options :
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o )

negatively charged particles

2O0ED au3EH Sraee)

doubly 1onized helium atoms

Oolad FQY ©0RAEGEI0 Woldd SrO0%e 0EIPED)E

ionized hydrogen nuclei

©0NVEGEI0 Dol Ezg 28R goé§c

uncharged particles

33390 Q0 ¥oPew

Question Number : 118 Question Id : 814578278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Which of the following depicts the output of the full wave rectifier with capacitor filter

for the following AC mput:

SRS ALY FOAS ¥ Y Bols NDEOH S BT, BHEYED §obd DS B’

AP DS ?

Options :

1.

£

V #

v

ac
input
sowd

A

T

W
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t
U L
>
t
3.
v e
/—_\‘J’_‘\f‘_—\
t
4. ®

Question Number : 119 Question Id : 814578279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Boolean expression for the circuit given i figure 1s

S0l BIIWES SO0 CINETY, WPOOHD DESEI0

Ao >0
Y
Bo
Options :
Y=A+B
1 B
Y=A+B
7 W
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Y=A+B

Y=h+B

Question Number : 120 Question Id : 814578280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A message signal of frequency 10 KHz and peak voltage of 15 volts 1s used to modulate

a carrier frequency of | MHz and peak voltage of 30 volts. Determine the modulation

mndex.

1 MHz &Fd:aigedn n0cin 30 5"%1}@ 3O oS"Q;frBS SO0 P8 JoSTvy 10 KHz
FIRYIgeSw DO 15 Senw 38 JPe B0 Dold DSBS HgTEl WASEONS,

SroeRsBHS DR T8 oS0
Options :
0.5
1. ¢
0.6
7
0.7
1.8
0.8
4 &

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :

Chemistry
8145786
3
Online
Mandatory
40
40
40
Yes
Yes
Yes
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Sub-Section Id : 8145786
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 814578281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. e 1
The degeneracy of the level of hydrogen atoms that contain the energy of { 16H ]15

[ *ESH J 3500 &2 DO oS’ weSaes(degeneracy)
Options :
4
1 ®
16
2. F
9
3 &
12
4 R

Question Number : 122 Question Id : 814578282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Wavelength of H™ 1on with kinetic energy 1.68 eV 1s

(Mass of proton =1.6726x107" kg )

1.68 eV (322 45 o H™ 00ire Sdoiadsesn
(PersS $8gooa = 1.6726x107 8. )

Options :

1.22 nm
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0.22 nm

¥ *

0.022 nm
3.

0.122 nm
4 %

Question Number : 123 Question Id : 814578283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Assertion (A) : Mg>" and AI’" are isoelectronic but the magnitude of ionic radius of
AI** is less than that in Mg**
Reason (R):  The effective nuclear charge on the outermost electrons in AI** is

greater than that in Mg**

RENONSW (A) 1 Mg™ 6050 AP e Daveduzgen SO050 R AP ©00irl argrd
DOIPEI0, Mgt %03 S8 .

O (R) 1 AP 20°8rgeheld dosaaid@ (o 28088 S0 esaddadn, Mg™™ & 5ol
D80y,

The correct option among the following is

& S0l DRYFUS DOGLSE

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

(A) OBgdw, (R) Obhgadn 000k (R), (A) 50 003 e
1.
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(A) 1s true. (R) 1s true but (R) 1s the not the correct explanation for A
(A) DBgw. (R) SBgelon sOAIW (R). (A) 80 K0S 2a308s S060

2.

(A) 1s true but (R) 1s false

(A) D30 R (R) e90Bgasw
3 W

(A) 1s false but (R) 1s true

(A) 3830 52 (R) g0
4, =

Question Number : 124 Question Id : 814578284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The successive 1onisation energy values for an element ‘X’ are given below

1) 1% jonisation energy = 410 kJ mol™
1) 24 jonisation energy = 820 kJ mol™
111) 3" jonisation energy = 1100 kJ mol™

1v) 4™ jonisation energy = 1500 kJ mol™

V) 5™ jonisation energy = 3200 kJ mol™

The number of valence electrons in the atom ‘X 1s

X Sros) SG00 0aIEde IR0 evden Sold 2 §eolerda.
i) 1 & ©0o050e 4§ =410 kJ mol™

i1) 2 & 00NSESe 4§ = 820 kJ mol ™

i) 3 & ©ood%Se 4§ = 1100 kI mol™

V) 4 & od5des 48 = 1500 kI mol™

V) 5 & ©0oNdESe 4§ = 3200 kJ mol™

X HSS8Tee8)eS” ot SQSD(Valence) W59

Options :

gcollegeduniaa

T



N

| %

4
2. ¥

2
3. %

i

3
4 ®

Question Number : 125 Question Id : 814578285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

2 S0l PR BBROWNW.
A) BF; I Tetrahedral

BerarEs (Weodoy Do)
B) CIF; I0) Trigonal planner

SN (9T S) B

C) NH; III)  T-shape
T- &5y

D) NH,™ IV)  Trigonal pyramidal
SO LONTS

The correct match 1s

OGRS 23¢9

Options :

~

T
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111
] B
A
III
7 ®
A
II
3.¢
A
11
4 R

111

I11

IV

Y

-

Question Number : 126 Question Id : 814578286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following molecules does not exist according to molecular orbital theory?

g WONEFY Y AFPHNN PTBSN §o& IS o) wemel) oI5\,

Options :

Li>
1. ®
Bﬁ'z
2.
B>
3. #

~

T
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Question Number : 127 Question Id : 814578287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Root mean square (rms) speed of O, 1s 500 m/s at a constant temperature. Calculate the
rms speed and the average kinetic energy of H, at the same temperature.

(consider R = 8.33 T k'mol™)

a8 A0 &S & O, cwd) Sodreo Jéw (rms) SS» 500 m/s. 08 &S & H,
Gy TMS SIS0 OGN VW (Idez FELD (eacd WAWW.
(R=28.33 Tk 'mol™ r* 080)es)

Options :

500 m/s and 4.0 kJ/mol
500 m/s S06a5w 4.0 kJ/mol

2000 m/s and 4.0 kJ/mol
2000 m/s 6aiw 4.0 kJ/mol

2. ¥

500 m/s and 4.7 kJ/mol

500 m/s 005w 4.7 kl/mol
1 ®

2000 m/s and 4.7 kJ/mol

2000 m/s oasw 4.7 kJ/mol
4. %

Question Number : 128 Question Id : 814578288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following describes an 1deal gas?
(1) The volume occupied by a gas molecule 1s negligible.
(1)  The collision between 1deal gases are elastic

(1)  Particles are very small compared to the distance between each other

808 TS’ D LT DBBoSD?

(1) 208 TPO5N EY) WEDoUD DROETEe OF) 08 SWE K TG,
(1) ©d0) FPANHL NGy TET VS FOEIN.

(1)  TPOSW VW)L Wy KT GEN Lol TPOiN BEWHLY TP D) D).

Options :
(1) and (1) only
(1) o008 (11) Somddad

St

(1) and (1) only
(1) S00asw (111) PSSl

[
®

(11) and (111) only
(11) 005w (111) Sl

(1), (11) and (111)

(1), (11) s08C3%W (111)

Question Number : 129 Question Id : 814578289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What 1s the % strength of 22.4 volume of H>O: solution?

22.4 20300rasnw HyO) wpeession rrEer e oeH?

Options :

3.4%
], ®

2.5%

2. %

5%
3.8

6.8%
4.

Question Number : 130 Question Id : 814578290 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

KMnO4 oxidises C>H>04 to form CO». In which of the following, the reaction will be

faster?

C2H204 & KMnO4, CO2 P 98350050, §0& To¢3eS" 8 $83:80 StforP 2580507

Options :

aq. HC1 solution
HC1 230 gpaieasioo

1. ¢

aq. NaOH solution
NaOH 20 eaSeasion
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aq. NaCl solution

NaCl o géeaé»

aq. NaHCO3 solution
NaHCO3 o @radeasiw

Question Number : 131 Question Id : 814578291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AH & AS for a reaction are +30.0 kJ mol™ and 0.06 kJ K- mol-! at 1 atm pressure. The
temperature at which free energy change is equal to zero and nature of the reaction below

this temperature are

awE DT YONE HESSD B, ¥ SOy AH ook AS e +30.0 kJ mol™ Soo0km
0.06 kJ K-1 mol—1. Hqar 3’ &rdy drsgaorr o adie S0050 ©odhold $8)S
GG S B DIAPSSNL 2SS

Options :

500 °C and non-spontaneous

500 °C 56050 ©SaS) &0

227 °C and non-spontaneous
227 °C 20050 93003 Eyo

400 °C and spontaneous
400 °C 30050 900S) 5y& (D Séaoée‘.’a)

gcollegeduniaa
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127 °C and spontaneous
127 °C 00050 90 53¢ (D ‘Ségoé&"a)

Question Number : 132 Question Id : 814578292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The vapour density of NoOsimn N>O4=2NO; 1s 40. The degree of dissociation is

N>O; =2NO» ¢&5° N->Oq Cﬁ.\)g& Wﬁaﬁ“eé@ 40. Do i.'l”D.u DEed

Options :

1.25

], ®

2.50
)

1.50
3. -

0.15
4.«

Question Number : 133 Question Id : 814578293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What is the equilibrium constant (X.) for the given reaction?
N;40,—= 2NO
Where the equilibrium concentration of N>, O» and NO are found to be 4 x 107,

3 x 10~ and 3 x 10~ M respectively.

N,+ 0, = 2NO %0z DS urodan (K,) oot?
DTS PEGL0 SGP N2, 02 8050 NO 0% 4 x 107, 3 x 10~ ok 3 x 107.

Options :
0.750
1.v
0.622
2 R
9 x 107
3. %
12 & % 10°°
4, ®

Question Number : 134 Question Id : 814578294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hard water contains 1on of

£0c5 230005065 Dolh) OSrSew
Options :
Zinc

2205
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Magnesium and calcium

o0 220%0 SO0 OG0
2. ¥
Iron
200
3, ®
Iron and manganese
20 OO STPatiDR
4. %

Question Number : 135 Question Id : 814578295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Predict the feasibility of the given reactions in aqueous solution
BOTPSESNS’ §ob WSV 0D PBg0S" DTBoIN.

(i)  Be(OH), +20H" —>[Be(OH), |~

(i)  Be(OH),+2H" —[Be(OH),]|”

Options :
Only (1) 1s feasible
(1) Soradd PN

| %
Oanly (11) 1s feasible
(11) SPSD0 PN
2 W

(1) and (11) are feasible

() 00k (i) Py
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(1) and (11) are not feasible

(i) 605 (if) Bz

4 B

Question Number : 136 Question Id : 814578296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the nature of the bonding in anhydrous AlICl; and hydrated AICIl; respectively?

ovedy AlICL wbosn ©dy AlC o o RSO,

Options :

Tonic and Ionic

0I5 O OIS
1. ®

Tonic and Covalent

OPIE OO HdaIradoR
2 B

Covalent and ITonic

D0CIF2DON SHO0IW airdS
3. ¥

Covalent and Covalent

DeNAIPZZ 0N OO VNTIr2ACD
4 &

Question Number : 137 Question Id : 814578297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following elements reacts with water?

808 PUEISNLT B Se3eS® $8g Do,

Options :
¢
] B
Ge
2 B
Sn
3. ¢
Pb
4 R

Question Number : 138 Question Id : 814578298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Biochemical Oxygen Demand (BOD) 1s a measure of organic materials present in water.

BOD value less than 5 ppm indicates a water sample to be

2 S0PONS wS R ©S00SN (BOD) odr A8S o 3000 Derdsinnd O8) oub. s
230 SrmreS” BOD Qe 5 5ol ©30) & SrQouddd.

Options :

Rich m dissolved oxygen
500 98\ )80y &

Poor 1n dissolved oxygen

00 w8y S80S

collegedunia:s
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Highly polluted

2J80p 5 PRS0 SOOI
7 &
Not suitable for aquatic life
22T 2853000 WASTRAR
4. %

Question Number : 139 Question Id : 814578299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Sodium fusion extract of aniline when heated with ferrous sulphate solution and then

acidified with concentrated H>SO4 form which of the following complexes?

=
AL

DO Ay VEAWo APl Grd) O VSHE rdeedd” J& WIS ST Pl
D0 1368 eaiocs® o ySo WP §obd o) Kodard) WG HKVeE?

Options :

[Fe(CN), |”

Fe,| Fe(CN), |, -xH,0

2w

[Fe(SCN) |
3 ®

[Fe(CN);NOS]"
4. %

Question Number : 140 Question Id : 814578300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Ethyl phenyl acetylene (1—phenyl-1-butyne) on reduction with partially deactivated

palladised charcoal (Lindlar’s catalyst) gives

926 136 DEON (1- 236 1-2rgll) FaSorr BBSD DOERE EE'S
(Qogby 6B y3880) o LODESEND BoBIYE TYEIE.

Options :

o
o

Question Number : 141 Question Id : 814578301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following methods is suitable to generate aromatic compound(s) from

linear aliphatic saturated hydrocarbons with at least six carbon atoms?

5050 6§83 HSTrewHen S SPHAD DOFEE Dodyd FEFENOL Dol DE S¢S
0330 TSS(00) BB PSS DPS G2 §ob TS’ DG?
Options :
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Heating at 773 K
773 K 3¢ 3¢S dosoe

1 B
Mo,O, . 773 K ., 10-20atm
2. ¢
Anhyd. AICL;, conc. HCI, A
e AICL,, et HCL, A
3. %
Cu, 523 K., 100 atm
4 R

Question Number : 142 Question Id : 814578302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Copper crystallizes in ccp arrangement and accepted value of metal 1on radius was found

to be 1.41 A . Calculate the density of copper in grams per cubic centimetre.

(atomic weight of copper is 64, Na=6 x 10%)

S06 cop SRBES’ ©yEESES0 BothD. P GAE PO 141A . S PoliS
PeS0e/ 8gedS Rot3deod” E0(T 0.
(66 H68Tew w6 64, Na=6 x 10%)

Options :

6.67
1. ¢

7.80
7 R

8.90
3. %

~

T
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10.00

Question Number : 143 Question Id : 814578303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A’".B* and C form an ionic complex like A_,[B(C),], . If the complex is 75%

dissociated i a solvent with 1 = 4. the coordination number of B 1s

AT, B and €7 en DOy w8 0airds Doffy ) A, ,[B(C),],- & %ogQ
DI, 1= 4 P 3OO auf TS 75% D053 BodR, B H0I300 Domdg Joth?

Options :

R

i )
1 B
2 R

5
3.¢

6
4. ®

Question Number : 144 Question Id : 814578304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The freezing point of equimolal aqueous solution will be highest for

RNBPLS 20 TSE0S" DR DD2ILS Fdadd )80y S @obwod.

Options :

collegedunia:s

India’s largest Student Review Platform




BaCl,

] %
Cﬂ(NOs)z
Urea
QdrOQIT®
3. ¢
Nﬂz 804
4 ®

Question Number : 145 Question Id : 814578305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The standard electrode potentials of Ag™/Ag is +0.80 V and Cu™/Cu is +0.34 V. If these

electrodes are connected through a salt bridge, which of the following statements 1s

correct?

DSre UG e AgT/Ag £ +0.80 V 080k Cu/Cu 0 +0.34 V. & oG
o ¢S DES” DomrRoRSE, §ob Tgges’ D dadn?
Options :

Silver electrode acts as anode and E° cell is -0.34 V

206 DUEIE G OGN Duddo EY vend —0.34V

1 B
Copper electrode acts as anode and E° cell is +0.46 V
R0 DO IGE G 0akn oo E? 2end +0.46 V
2.
Silver electrode acts as a cathode and E°cell is —0.34 V
D0 WOEIE SEE SHOAK oo E? wend —0.34V
3. %

~

T
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Copper electrode acts as cathode and E° cell is +0.46 V
FO0 DU§IGE FHE OO Docoo E° e +0.46 V

Question Number : 146 Question Id : 814578306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For a zero order reaction, the plot of concentration of reactant vs time 1s

(Hint: Consider the intercept on the concentration axis)

B AP SEST08 8380, SOTESE TP OO FLSVL TP
(K055 & TP ©ES0 D WoBEWCSND (1G0R)SD)

Options :

linear with + ve slope and non zero +ve mtercept

S & e, G E @otddeotiain (v OO0

], ®
linear with — ve slope and non zero +ve mtercept
200EPS L E TP, Grd) § ©@oS0wotell (Iu 0T 0w
2. ¥
linear with — ve slope and zero mtercept
2EPS Y § TP, g @oSCWolkiedn (i DO Ow
3. %
linear with + ve slope and zero mtercept
O § TP, APy @oBdwodiad (o OO
4 ®

Question Number : 147 Question Id : 814578307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The gold numbers of gelatin, haemoglobin and sodium acetate are 5 x 103, 5 X 102

and 7 X 10~1, respectively. The protective actions will be in the order

2P, PIPG R SO0 FEONe WIS r‘i‘é Noggew SO0re 5 X 10-3,5 X 10-2 and
7 X 1071, S 03 3003
Options :
Gelatin < haemoglobin < sodium acetate

2erdo < FIrFR < FEAWo JAE

1. =
Gelatin > haemoglobin > sodium acetate
BrPR > FPIPTR > P VEES

2.
Haemoglobin > gelatin > sodium acetate
FPIrFRe > s > FEODo WJVES

3. .
Sodium acetate > gelatin > haemoglobin
VG000 JVEIS > 28ed® > PP

4 R

Question Number : 148 Question Id : 814578308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following ores does not contain iron?

808 3" o S (TPeeH) & DES Sotidy?

Options :
Hematite

S 0EES
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Magnetite

oS°¢4 ;;“965
2. %
Calamine
PO
3.
Siderite
Sledels)
4 B

Question Number : 149 Question Id : 814578309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When copper metal 1s treated with cold and dilute nitric acid, it forms

FHE SIS, WO 0230 SHTDHINS* SGg BoBSRE oSS
Options :

NO

N,O

I

N, O,

Tad

NO,

Question Number : 150 Question Id : 814578310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which one of the following is not a colorless compound?

88 7635 SEBaPeS Doy o A B?

Options :

NO
1. &=

N204
2. %

N;O
3 %

NO:
4.

Question Number : 151 Question Id : 814578311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is not true about mterstitial complexes?

P 0BT D08 Dy PP K80 S0 TS’ o TPy e SEH?

Options :

Small atom like C, H or N are trapped inside crystal lattice
0)EEErOIING W) DOSP0aHOS C, H Sae N 280, o) &

1. =

They are usually non-stoichiometric

O FEeUeierT FORSIrIE S
28

They generally retain metallic conductivity

O PRSP S'0° PR ES 0D ALDEL WAk
3. %

~

T
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They are chemically very active

O TFPODAZP WP GRS

4.v

Question Number : 152 Question Id : 814578312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following molecules is colorless?

808 PES DO SPELrS W)
Options :
CuSOy4 - 5H>O (crystal)
CuSO4 - SH20 (Ry885w)

] ®
CuSOg4(anhydrous)
CuSO4 (08)

2. & -
[Cu(NH3)4]* (aq)
[Cu(NH3)4]" (2e)

3 ®
[CuCls]*- (aq)
[CuCls]*~(22o)

4 R

Question Number : 153 Question Id : 814578313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following vinyl derivatives 1s the most reactive towards anionic

polymerisation?

808 HIS & ) SN’ B BIATE FODOIGESNS’ &Y §ATPELS SRS
Options :

CH,=CH-CH>—CHs

| %

CH,=CH—CH>-OE
7 B8

CH,=CH-Cl1
3

CH>=CH-C=N
4.

Question Number : 154 Question Id : 814578314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Amino acids containing heterocyclic ring are

(1) Histidine (11) Valine (m)  Argimine (iv)  Proline

eFSWEON SN0 FOS wdand” warren

@) pes G) S8 (i) ©03% (iv) HOS
Options :
1, 1V
1. v
11, 111
2 W

~

T
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1, 111

11, 1V

Question Number : 155 Question Id : 814578315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following is an arsenic based antibiotic drug, for which Paul Ehrlich

was awarded Noble prize in 1908.

808 S D& WOV LErOS APt IIrES THESD. T FEH FS ArsOS (Paul
Ehrlich) % 1908 & 230 0&°) S aedadn Wakeobdsl.

Options :
Salvarsan
FOOIR
1. v
Pencillin
33533635
Prontosil
goés{’ 2S5
3 #
Sulphapyridine
e AL S
4 % '

Question Number : 156 Question Id : 814578316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The major product 1n the following reaction sequence 1s

806 WBgL EXTP0SS0E G BHI(DE) &5 S0

(i) EtMgBr

O
(1) H,O S P
(111) 20% H,PO,
(iv) HBr

Options :

Br
1 B
: :Br
Br
3.
Br

4 %

Question Number : 157 Question Id : 814578317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following gives alcohol/phenol products?

808 Te3S" D By IS S HTS S 1) SNV G YEHH?

(1) C 2H 5CO zH _5
LiAlH,

+ —

N,Cl
Options :

(1) and (11)
(i) So80%0 (ii)

H,PO,

H,O

(11) and (111)

(11) o00Q5W (111)
(1) and (1v)

(1) 0003w (1v)

(1) and (111)
(1) 0008w (111)

—>

(1)

(iv)

C,HsBr

Cl

CH,

FG 856
Mg, dry ether

then H,O
SSoare

NaOH, 623K

>

300 atm

>

Question Number : 158 Question Id : 814578318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~

T
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The major products P and Q i the followig reactions are

&1 8ol B30 ©BE(ERS) Gy Swew P 0050 Q

CH=NOH (i) (CH;CO),0 (i) CH;MglI
> P > Q
O/ (i) HO0™

Options :
P Q
O
C=N
U CH3
1. v
P Q
O O
s lNe e
2w
P Q
OH

CHO
4

gcollegedunias
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OH

CH;

Question Number : 159 Question Id : 814578319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the following reactions, P. Q, and R are

& §obd WG5S G P, Q 0050 R e

CO,H GO
NH; Heat
— p —
&.
CO,H
Options :
% Q R
T
OO NH,4 "O,NH;
_
00 NH4 CG:NHz
. ®
% Q R
i
OO0 NH, ONH;
o
00 NH, "ONH;
2. v

Q

NH

NH

O

&8P JGICL
Strong heating

>

R

~

T
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3. R

_|_
00 NI,

—F
00 NH,

: :CONH;
CONH,

NH

R
CONH,
ONH,
R
| O
OO0 NH,
NH
+
00 NH, ),

Question Number : 160 Question Id : 814578320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Following transformation can be accomplished by

Sol S0 LT @30FS seOsPL (1) Ok (i1)

Options :

<

(1)

LiAlIH4

(1)

Br/ 4AKOH

G U\/

(1)
Pyridinium dichromate

2660 GBS

(11)

NaNO., HCl
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(1)

Br»/ 3KOH
3 #
(1)
NaNO-, HC1
48

(11)
alc. KMnOg4
w0y FOS KMnO4

(11)

LiAlH4
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